

Υπολογισμός συντελεστών Clebsch-Gordan

Ν. Λυγερός

$$\begin{aligned} & \langle j_1 j_2; m_1 m_2 | j_1 j_2; j_m \rangle \\ &= \delta_{m, m_1+m_2} \sqrt{\frac{(2j+1)(j+j_1-j_2)!(j-j_1+j_2)!(j_1+j_2-j)!}{(j_1+j_2+j+1)!}} \times \\ & \sqrt{(j+m)!(j-m)!(j_1-m_1)!(j_1+m_1)!(j_2-m_2)!(j_2+m_2)!} \times \end{aligned}$$

$$\sum_k \frac{(-1)^k}{k!(j_1+j_2-j-k)!(j_1-m_1-k)!(j_2+m_2-k)!(j-j_2+m_1+k)!(j-j_1+m_2+k)}$$

Έστω $j_1 = j_2 = 1, \quad j = 2$

Για $m = 2 \Rightarrow m_1 = m_2 = 1$

$$\langle 11; 11 | 11; 22 \rangle = \delta_{2,2} \sqrt{\frac{(5)2!2!0!}{5!}} \times \sqrt{4!0!0!2!0!2!} \times$$

$$\sum_k \frac{(-1)^k}{k!(-k)!(-k)!(2-k)!(2+k)!k!}$$

$$\langle 11; 11 | 11; 22 \rangle = 4^* \sum_{k=2} \frac{(-1)^k}{k!k!(2-k)!(2+k)!} = \frac{4}{4} = 1$$

Έστω $j_1 = j_2 = 1, \quad j = 2$

Για $m = 1 \Rightarrow m_1 = 1, m_2 = 0$ ή $m_1 = 0, m_2 = 1$

$$\langle 11; 10 | 11; 21 \rangle = \delta_{1,1} \sqrt{\frac{(5)2!2!0!}{5!}} \times \sqrt{3!1!0!2!1!1!} \times$$

$$\sum_k \frac{(-1)^k}{k!(-k)!(-k)!(1-k)!(2+k)!(1+k)!}$$

$$\langle 11;10|11;21\rangle = \sqrt{2} \sum_{k=0} \frac{(-1)^k}{k!(1-k)!(2+k)!(1+k)!} = \frac{\sqrt{2}}{2} = \frac{1}{\sqrt{2}}$$

Έστω για $j_1 = j_2 = 1, j = 1$

Για $m = 1 \Rightarrow m_1 = 1, m_2 = 0$

$$\langle 11;10|11;21\rangle = \delta_{1,1} \sqrt{\frac{(3)1!!1!!}{4!}} \times \sqrt{2!!0!2!!1!!} \times$$

$$\sum_k \frac{(-1)^k}{k!(-k)!(-k)!(1-k)!(1+k)!k!} = \frac{1}{\sqrt{2}} - 1 = \frac{1}{\sqrt{2}}$$

Έστω $j_1 = j_2 = 1, j = 1$

Για $m = 1 \Rightarrow m_1 = 0, m_2 = 1$

$$\langle 11;01|11;11\rangle = \delta_{1,1} \sqrt{\frac{(3)1!!1!!}{4!}} \times \sqrt{2!!1!0!2!!1!!} \times$$

$$\sum_k \frac{(-1)^k}{k!(1-k)!(1-k)!(2-k)!k!(-1+k)!}$$

$$\langle 11;01|11;11\rangle = \frac{1}{\sqrt{2}} * \sum_{k=1} \frac{(-1)^k}{(2-k)!k!k!} = \frac{1}{\sqrt{2}}$$